28-(8-33-01

£ IRI
6,12,2

042-763-2007

10 10

(3




ENEEEESE (%RD)

7000

6000
Z 5000
E 4000
& 3000
+ 2000

=
1000

T
/\ A !L--Jmﬂ J

20000 -

15000

I 4 e /m?)

25000

BNy = . . .

6A | 9A |12A 28+ &A | 98 | 12A | 28 | 68 9A 12A | 2A
Hes H2s . He7 H2
Y

10000

4 2% (&) A (RN

H25-27

DM 431

H25-27

27

25 28

6A | 97 12a|2Av| 6 eA 12m | 27 em | sA |12 2nm

He% H2& H2? H2g
“YBIGEIH DIEINZ AN
m2
H25-H27)

B350 EEE (EE/m?) - 160
wRy57  RES (e/w) __ i 140
76 - 120

![ 80

- 60

I 40

! 20

-0

H25-27



